









Scoring is a success
I 2

Any other score is a failure
5 3
4 On one spin

P success p 0.2

P fail I p q 0.8

Suppose spinner is spun 5 times

the X B I o4 X number of
Successes

Manual Calculations 5 success
f Fail

5 spins

P Xero FFFFF P X o 8 x 8 8 8 8

85 0.3277

P x l SFFFF or FSFFF or FFSFF
or FF f SF or f EFFS

2x 8 x 5C I E O 4096

P X 2 Ss FFF FSSFF FFSFS
SF SFF FSF SF f FESS
S F FSF FSF FS
SEFES FESSE

PC 4 2 5C z x 0.22 0.8 0.2048

Binomial Distribution



In general if X B n p

then P X r Cr prq
r

or her xp'Ll py
r

From Tables Page 29

P X o 0.3277

PC X c PCxei pcx o

O 2373 0.3277 0.4096

p z PEREZ PCXE 0.2048
O 9421 O 7373

n p
Example Let X B 10 0.4

Find P 4EXE7
P Xen PCXES
0.9877 O 3822

O 6055



n p
X B 16 0.2 X represents nuns

not turning up

All turn up P x o

By calc 0.0281

Or O 816 0.0281

ii PCX 3 I PCXED
I 0.5981

0.4019




